Physics 20 Midterm, October 31, 2011

Name: g ol u+ lé‘l_g'

Perm:

This test consists of 4 pages in all. It is closed book. You may use one sheet of
equations or notes (one side), and a calculator.

There are 3 problems each worth 10 points. Write answers on the sheets, and show
your work, using blank space for calculations.

And since it’s Halloween, everybody will get 1 free point!

You may not, of course, talk with another student during the test, or copy another’s
paper.
Good luck!

Useful equations and constants

Distance: 1 km=10°m
Distance: lem=00lm
Gravity: g =10m/s?
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Problem 1: Consider the three vectors ﬁ, ﬁ, and C:

(a) Evaluate A -B
(b) Evaluate 3A + 2C
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Problem 2: A ball is launched from a vertical cliff of height A = 80m with velocity of
magnitude vg = 5 m/s and direction purely horizontal, as shown below. How far from the
base of the cliff does the ball hit the ground? Take g = 10m/s?.
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Problem 3: A block of mass m slides without friction on a wedge as shown below, under
the influence of gravity. Find the magmtude and direction of the force of the block on the

wedge in terms of g, m, and 6.
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END OF TEST
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